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⼤大型ハドロン衝突型加速器(LHC)
Large Hadron Collider 　[ 写真は⽇日経新聞より ]

• ⾼高エネルギー物理実験を⽬目的として
CERNが建設した衝突型円型加速器

• 陽⼦子が衝突したときのエネルギー

• ATLASとCMSのヒッグス粒⼦子発⾒見見 　 　
により標準理論の完成

•  TeVのエネルギーレベルで頭打ち？

これからは⾮非加速器実験が重要！
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量⼦子⼲干渉実験
中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果

•⾮非加速器実験

•COW実験(重⼒力力の量⼦子⼒力力学的効果の測定)

極冷中性⼦子⼤大型⼲干渉計で、⼤大型化・測定精度の
向上で、より精密な重⼒力力理論の検証が可能！

⼀一般相対論、修正重⼒力力理論

Chern-Simons(CS)重⼒力力
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We have used
of neu

a neutron Interferometer t b
utrons caused by their interaction wi

o o serve the uanq antum-mechanical phase sh'ft
in erac con with Earth's gravitational field.

In n1ost henomp mena of interest in terrestrial
physics, gravity and quantum mechanics do not
simultaneously play an important role. Such an
experiment, for which the outcome necessaril

s upon oth the gravitational constant and
e necessarily

Planck's constant, has recentl ben y een proposed by

A neutron beam is split into two beams by an
interferometer of the type first developed by
Bonse and Hart' for x rays. The le re ative phase
of the two beams where they recombine and inter-

the in
ere, at point D of Fig. 1 is var'edb t t'
e interferometer about the line AB of the inci-
ent beam. The dependence of the relative phase
P on the rotation angle y is

P =qgrav W r

where

q „,=4nkgh 'I'd(d+acos8) tane. (2)

The neutron wavelength is ) = 1 445 A, g isthe

FIG. 1. Schematic diagram of the neuFIG o e neutron interferom-
e etectors used in this experiment.

acceleration of gravity h i Pl
M i

is anck s constant,
is the neutron mass, and 6I is th e Bragg a gle,

The dimensions a =0.2 cm and d =3.5 cm
are shown in Fig. 1.
o ringes which will occur during a 180'
xcept for the term a cos8 wh' h

th th'e ickness of th
, w ic accounts for

the interferometer slabs, Eq. (2)
is equivalent to Eq. (8) of Ref. l. For our e
The interferometer was cut from dirom a dislocation-
ree silicon crystal approximatel 2 in. in

n in. ong. Our particular design was
chosen so that the experiment could also be car-
ried out with 0.71-A x rays. This is
impor ant because the bending of the inte interferom-

un er its own weight varies with y and in-
troduces a contribution t&b na

P (f grav + abend) W'' (3)

The ma~or problem was finding' a method for
mounting the crystal so th t tha e relative phase P

rse imensions (3is constant across the transverse d
mme mm) of the interfering beams at D. The

l
best results were obtained with thi e crystal free-
y resting on two felt strip (3i s mm wide and per-
pendicular to the axis of th l' d 'e cy in rical crystal).
These strips were located 15 mm from either
end of a V block equal in length t tho e crystal.

&30 .
is arrangement limited rotat ta ions o —30 &y

Three small, high-pressure He' detectors we
used to monitor one

e ec ors were
r one noninterfering beam (C,) and

the two interfering beams (C and C2 an ~ as shown in

an entr
ig. . These detectors, the interfin er erometer, and

box
an en rance slit were rigidly mount dun e in a. meta, l

beam. This enti
ox which could be rotated about the 'ou e incident
earn. This entire assembly was placed inside
an auxiliary neutron shield.
The counting rates at C d C, an, are expected to
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量⼦子⼲干渉実験
中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果

中性⼦子を２つの経路に分けて、
経路間の位相差の変化を⼲干渉縞
として測定する実験。

“Observation of Gravitationally Induced Quantum Interference”
PRL 34,1472(1975)

R. Colella, A. W. Overhauser and S. A. Werner

COW実験(中性⼦子⼲干渉計)



量⼦子⼲干渉実験
中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果

中性⼦子を２つの経路に分けて、
経路間の位相差の変化を⼲干渉縞
として測定する実験。

COW実験(中性⼦子⼲干渉計)
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量⼦子⼲干渉実験
中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果

• ラグランジアンL 　 　[ 　 　 　 　 　 　 　 　 　 　 　]

について１次のオーダーまでとり、 　 　 　の近似を⾏行行う

• ハミルトニアンH

• シュレディンガー⽅方程式
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path C2

path C1
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BA
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S

L1

L2
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低
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2
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2
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重⼒力力場中の粒⼦子をmとし、

gµν = ηµν + hµν

平坦時空からのずれ

4.2 慣性系の引きずりによる干渉効果
1967年にG.Papiniはニュートン重力の考えからだけでは導かれない重
力場の効果として、慣性系の引きずりの効果について指摘している。
弱い重力場として慣性系の引きずりが位相に与える影響、干渉効果を
ハミルトニアンを用いて導く。
重力場中の粒子のラグランジアンは、次のように書ける。

L = −mc
√

gµν ẋµẋν (4.17)

= −mc2

(
gµν

ẋµ

c

ẋν

c

) 1
2

(4.18)

ここで、hについて１次のオーダーまでとり v " cの近似を行って平
方根を展開する。また、重力場を平坦な時空からのずれとして次のよう
に表す。

gµν = ηµν + hµν (4.19)

また ηµν ≡ diag(1,−1,−1,−1)、"h0 = (h01, h02, h03)とする。hはすべ
てO

(
1
c2

)
の微少量である。

したがって、ラグランジアンは

L = −mc2

(
1 + h00 + 2h0i

ẋi

c
− (ẋi)2

c2
+ hij

ẋiẋj

c2

) 1
2

$ −mc2

(
1 +

1

2
h00 + h0i

ẋi

c
− (ẋi)2

2c2

)

(4.20)

となる。
ここでの式 (4.20)は「場の古典論 原書第６版」ランダウ=リフシッツ
理論物理学教程（東京図書）p378を参考にした。
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量⼦子⼲干渉実験
中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果

• シュレディンガー⽅方程式

• 波動関数

• 位相差
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第5章 Quantum interference
in Chern-Simons(CS)
gravity

5.1 量子干渉効果
一般相対論的効果による量子力学的な干渉効果について
慣性系の引きずりによる位相差∆は

∆ =
mc

!

∮

C

!h0 · d!r (5.1)

である。また、重力場は平坦な時空からのずれとして次のように表す。

gµν = ηµν + hµν (5.2)

また ηµν ≡ diag(1,−1,−1,−1), !h0 = (h01, h02, h03)とする。
ここで、位相差∆にストークスの定理を用いると

∆ =
mc

!

∫

S

(!∇× !h0) · d!S (5.3)

になる。

5.2 Chern-Simons gravity

一般相対論 (General Relativity:GR)の作用に Chern-Simons(CS)の効
果を加えて修正したCS重力の作用を次のようにかく。

SCS =
1

16πG

∫
d4x

1

4
fR"R (5.4)
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• CSによる作⽤用積分

• CS補正の計量

• 2体や多体系で使える

Chern-Simons(CS)重⼒力力
“New Post-Newtonian Parameter to Test Chern-Simons Gravity”

PRL 99,241101(2007)
Stephon Alexander and Nicolas Yunes

SCS =
1

16πG

�
d4x

1

4
fR�R

O!1=c"A, with c the speed of light [15]. One can show that
Eq. (8) is related to the Lorenz gauge via an infinitesimal
gauge transformation. The solution to the CS modified
field equations in PPN gauge is given by
 

g00 # $1% 2U$ 2U2 % 4!1 % 4!2

% 2!3 % 6!4 %O!6";
g0i # $7

2Vi $ 1
2Wi % 2 _f!r& V"i %O!5";

gij # !1% 2U"!ij %O!4";

(9)

where fU;!1;!2;!3;!4; Vi;Wig are PPN potentials (see,
e.g., [7] for definitions and discussion of these potentials).
Both the PPN potentials and parameters take the same
values in CS gravity as in GR. Equation (9) is a solution
to 1 PN order, since from it one could calculate the point-
particle Lagrangian to O!4". As one can check, this solu-
tion satisfies the Pontryagin constraint [15].

Chern-Simons gravity introduces a correction to the
metric in the vectorial sector of the metric perturbation.
This correction is proportional to the first time derivative of
the CS coupling parameter _f and to the curl of the PPN
vector potential Vi. In principle, there is also a CS coupling
to the other PPN vector potential Wi, but this contribution
is already accounted for because r&Wi # r& Vi. Since
this is the only modification to the metric, the PPN pa-
rameters of CS gravity are identical to those of classical
GR, with the exception of the inclusion of a new term in
g0i. In fact, defining the CS correction as !g0i # g0i $
gGR0i , with gGR0i the GR prediction, we get

 !g0i # "M!r& V"i; (10)

where we have defined a new PPN parameter, " '#
2 _f=M, with M the characteristic mass scale of the source
inducing the vector potential. This new PPN parameter is
rescaled by M to make it dimensionless and coordinate
independent. The rescaling choice might seem arbitrary,
but since _f has units of mass it can be interpreted as some
CS mass scale, yielding " / mCS=M as a ratio of masses
with a clear physical meaning.

Until now, a PPN potential of the type of Eq. (10) had
not been considered, nor had any experimental constraints
been placed on ". Clearly, any experiment that samples the
vectorial sector of the metric perturbation, and thus, the
frame-dragging effect, could achieve such a constraint.

Astrophysical tests.—Consider a system of A nearly
spherical bodies in the standard PPN point-particle ap-
proximation, where the PPN vector potential is [7]

 Vi #
X

A

mA

rA
vi
A % 1

2

X

A

!
JA
r2A

& nA

"
i
; (11)

with mA the mass of the Ath body, rA the field point
distance to the Ath body, niA # xiA=rA a unit vector pointing
to the Ath body, vA the velocity of the Ath body, and JiA the
spin-angular momentum of the Ath body. When the num-
ber of bodies A # 2, Eq. (11) is the vector potential for a

binary of spinning compact objects, while when there is
only one body present, A # 1, it represents the potential
outside a moving spinning body. For such a vector poten-
tial, the CS correction to the metric becomes

 !g0i # 2
X

A

_f
rA

#
mA

rA
!vA & nA"i $

JiA
2r2A

% 3
2
!JA ( nA"

r2A
niA

$
;

(12)

where the ( and & operators are the flat-space inner and
cross products. Note that the CS correction couples both to
the spin and orbital angular momentum of the system.

The full gravitomagnetic sector of the metric becomes
 

g0i #
X

A

#
$ 7

2
mA

rA
vi
A $ mA

6rA
!vA $ v!eff"

A "i

$ 1
2
niA

mA

rA
!v!eff"

A ( nA" $ 2
!
J!eff"A

r2A
& nA

"
i
$
; (13)

where we have introduced an effective velocity and angular
momentum through

 vi
A!eff" #vi

A$6 _f
JiA

mAr2A
; JiA!eff" #JiA$ _fmAvi

A: (14)

When the spin-angular momentum JA vanishes, g0i is
identical to that of a spinning moving object, with the
spin induced by the CS coupling to the orbital angular
momentum. Such a coupling leads to an interesting physi-
cal interpretation: if we model the field that sources the CS
coupling as a fluid that permeates all spacetime, the CS
modification to the metric is nothing but the ‘‘dragging’’ of
such a fluid [15], whose strength is proportional to the first
derivative of the CS coupling parameter.

The CS correction to the metric computed here couples
to the three-velocity of the sources, which could suggest
the possibility that this effect is not coordinate invariant.
However, this velocity-dependence comes directly from
the PPN vector potential Vi [Eq. (11)]. Therefore, the CS
correction to the metric is as coordinate invariant as the GR
PPN metric itself, since this also depends on Vi [Eq. (9)]
[7]. Observables, on the other hand, must be constructed in
a coordinate-invariant way, which is sensitive to the choice
of basis vectors. This choice in general depends on the
experiments that look for such observables [23] and a more
formal analysis of such coordinate issues should be carried
out elsewhere.

We can now compute the correction to the frame-
dragging effect in CS gravity and compare it to the
Lense-Thirring effect. Consider then a free gyroscope in
the presence of the gravitational field of Eq. (13). The
gyroscope will acquire the precessional "i # !r& g"i,
where gi # g0i. Therefore, the CS modification to the pre-
cession angular velocity, defined via !"i # "i $"I

GR,
where "i

GR is the GR prediction, is given by

 !"i # $
X

A

_f
mA

r3A
)3!vA ( nA"niA $ vi

A*; (15)
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第7章 CS重力による量子干渉
効果

7.1 CS重力による位相差
CS重力で補正された計量は

δg0i = 2
∑

A

ḟ

rA

[
mA

rA
(vA × nA)

i − J i
A

2r2A
+

3

2

(JA · nA)

r2A
ni
A

]
(7.1)

である。この計量 δg0iは次のように一般相対論からのずれとして表して
いた。

δg0i = g0i − gGR
0i (7.2)

この計量 δg0iを量子干渉効果における位相差∆の式 (5.3)に適用させる
ために "∇× δ "g0が必要であった。
ここでΩi = ("∇× g)iとおく。ただし gi = g0iであり、δΩi = Ωi − Ωi

GR

とすると

δΩi = 2
∑

A

ḟ
mA

r3A
[3(vA · nA)n

i
A − viA] (7.3)

となる。ただし、これは参考論文 [6]より

δΩi = −
∑

A

ḟ
mA

r3A
[3(vA · nA)n

i
A − viA] (7.4)

とは係数が異なり−1ではなく 2が正しい。
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第5章 Quantum interference
in Chern-Simons(CS)
gravity

5.1 量子干渉効果
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SCS =
1

16πG

∫
d4x

1

4
fR"R (5.4)
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第7章 CS重力による量子干渉
効果
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“Daily and seasonal variations in quantum interference induced by

Chern-Simons gravity” (in prep.) H. Okawara, K Yamada, and H Asada

第10章 中緯度の式

10.1 CS gravity

CS補正による計量は、

δCSg0i =
2G

c3

∑

A

ḟ

rA

[
mA

rA
("vA × "nA)

i − J i
A

2r2A
+

3

2

( "JA · "nA)

r2A
ni
A

]
(10.1)

となる。

10.2 Phase shifts

位相差は、

∆ =
1

!

∮

C

δHdt

=
mc

!

∮

C

"g · d"r (10.2)

となる。ただし、"g = (g01, g02, g03), m denotes the quantum particle mass,

! ∼ h/2π denotes Dirac’s constant である。ストークスの定理から、位
相差は次のようになる。

∆ =
mc

!

∫

S

("∇× "g) · d"S (10.3)

したがって、CS重力による位相差∆CSは、

∆CS =
2m

!c2

∫

S

ḟ
GME

r3
[3("vE · "nE)"nE − "vE] · "NIdS

= 2ḟ
mGMES

!c2r3E
[3("vE · "nE)"nE − "vE] · "NI (10.4)

42

Earth ωE
DC

BA

S

位相差∆の式 (5.3)の !∇× !h0に、この δΩiを用いると、

∆ =
mc

!

∫

S

(!∇× !h0) · d!S (7.5)

= 2
mc

!

∫

S

ḟ
M

r3
[3(!v · !n)!n − !v] · !NdS (7.6)

= 2ḟ
mMcS

!r3
[3(!v · !n)!n − !v] · !N (7.7)

となる。ここで、

地球半径$
√

s (干渉計のサイズ) (7.8)

なので r =一定と考えられるので、[3(!v · !n)!n − !v] · !N は積分の外に出せ
る。以降、位相差∆は係数部分を除いた [3(!v · !n)!n− !v] · !N について議論
する。

7.2 Daily variation
!N(t)と!n(t)にcoordinate rotation(座標回転)を与えて時間変化を考える

!N(t) = R(t) !N0

!n(t) = R(t)!n0

R(t) =




cos(ωEt) − sin(ωEt) 0

sin(ωEt) cos(ωEt) 0

0 0 1





ただし ωEは地球の自転周期。

ωE =
2π

１日

[3(!v · !n)!n − !v] · !N = 3(!v · !n)(!n · !N) − !v · !N

= !v · [3(!no · !N0)!n − !N ]

= !vT[3(!no · !N0)R!n − R !N ]

= !vTR[3(!no · !N0)!n − !N ]
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:地球の公転速度ベクトル

:⼲干渉計の置く位置における鉛直ベクトル

:⼲干渉計表⾯面における法線ベクトル
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Daily variation(⽇日変化)
[3(!vE · !nE)!nE − !vE] · !NI = 3(!vE · !nE)(!nE · !NI)− !vE · !NI

= !vE · [3(!nE · !NI)!nE − !NI ]

= (!vE)
T [3(!nE · !NI)R(t)!nE0 −R(t) !NI0]

= (!vE)
T R(t)[3(!nE0 · !NI0)!nE0 − !NI0] (10.9)

ここで (!vE)Tは転置行列を表す。これは内積計算を明確にするため、転
置表現を用いた。横ベクトルと縦ベクトルの積である。
また、(!nE · !NI) = (!nE0 · !NI0)は「内積は回転に対して不変」という関
係から示すことができる。つまり、!nEと !NIについて、時間的に不変であ
ることを示す。まず、次のような回転行列を用いてかけるベクトル !x(t)、
!y(t)を考える。

!x(t) = R(t) !x0(t = 0)

!y(t) = R(t) !y0(t = 0) (10.10)

このとき、

!y · !x = !yT!x

= (R(t)!y0)
T(R(t)!x0)

= !yT0 R(t)TR(t)!x0

= !yT0 R(t)−1R(t)!x0

= !yT0 !x0 (10.11)

であるので、内積は回転に対して不変である。
また、この回転行列はRT = R−1の関係があるので、

(!vE)
TR(t) = (R(t)T!vE)

T

= (R(t)−1!vE)
T (10.12)

とかける。したがって、

[3(!vE · !nE)!nE − !vE] · !NI = (!vE)
T R(t)[3(!nE0 · !NI0)!nE0 − !NI0]

= (R(t)−1!vE)
T[3(!nE0 · !NI0)!nE0 − !NI0] (10.13)
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初期位置で決まる

となる。ここでは、

地球半径!
√
S (干渉計のサイズ) (10.5)

なので r = 一定と考えられるので、[3(!vE · !nE)!nE − !vE] · !NI は積分の外
に出すことができる。
これより、位相差∆CSは係数部分を除いた [3(!vE · !nE)!nE − !vE] · !NI に
ついて議論する。
位相差∆CSに影響を与える効果として以下の 2つがある。

• 地球の自転（自転周期 ωE）→ 日変化

• 地球の公転（公転周期ΩE）→ 年変化

これらの変化は、地軸の傾き（地軸の軌道傾斜角 IE）があり、位相差
を検出する装置の置く場所（緯度）によって、その振幅が変化する。こ
れから、それぞれの変化について考える。

10.3 Daily variation

ある一日 (One Day)の変化である「日変化 (Daily variation)」を考え
る。太陽座標系での初期位置 (冬至、真夜中)を定義し、このとき地表に
張り付いた座標系を考える。まずは地軸の傾きを考慮せずに、自転の効
果だけを入れる。そして、!NIと!nEに座標回転 (coordinate rotation)を与
えることで時間変化を見る。この座標回転を与える回転行列をR(t)とし、
初期位置をそれぞれ !NI0、!nE0とする。また、初期位置は赤道上に置く。

!NI(t) = R(t) !NI0 (10.6)

!nE(t) = R(t)!nE0 (10.7)

R(t) =




cos(ωEt) − sin(ωEt) 0

sin(ωEt) cos(ωEt) 0

0 0 1



 (10.8)

ただし、地球の自転周期を ωE = 2π/１日とする。
この初期位置において、回転行列を使うと、
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t = 0は太陽座標系での真夜中・冬⾄至

ωE =
2π

1day
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= !yT0 !x0 (10.11)

であるので、内積は回転に対して不変である。
また、この回転行列はRT = R−1の関係があるので、

(!vE)
TR(t) = (R(t)T!vE)

T

= (R(t)−1!vE)
T (10.12)

とかける。したがって、
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T[3(!nE0 · !NI0)!nE0 − !NI0] (10.13)
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座標と成分の回転を与える

({R(ωE)}−1"vE)x = [cos(ΩEt) sin(ΩEt) cos(IE)− cos(ΩEt) sin(ΩEt)] sin(ωEt)

+ [sin2(ΩEt) cos(IE) + cos2(ΩEt)] cos(ωEt)

= [sin2(ΩEt) cos(IE) + cos2(ΩEt)] cos(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] sin(ωEt) (10.35)

({R(ωE)}−1"vE)y = [cos(ΩEt) sin(ΩEt) cos(IE)− cos(ΩEt) sin(ΩEt)] cos(ωEt)
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= −[sin2(ΩEt) cos(IE) + cos2(ΩEt)] sin(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] cos(ωEt) (10.36)

({R(ωE)}−1"vE)z = sin(ΩEt) sin(IE) (10.37)

以上をまとめると、

∆CS = 2ḟ
mGMES

!c2r3E

(
R−1"vE

)T [
3("nE0 · "NI0)"nE0 − "NI0

]
(10.38)

ただし、

(R−1"vE)
T =



{R(ωE)}−1{R(ΩE)}−1R(I)R(ΩE)




vE
0

0









T

(10.39)

である。この回転行列成分はそれぞれ次のようになる。
x成分:

(R−1"vE)x = [sin2(ΩEt) cos(IE) + cos2(ΩEt)] cos(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] sin(ωEt) (10.40)
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mGMES

!c2r3E

(
R−1"vE

)T [
3("nE0 · "NI0)"nE0 − "NI0

]
(10.38)

ただし、

(R−1"vE)
T =



{R(ωE)}−1{R(ΩE)}−1R(I)R(ΩE)




vE
0

0









T

(10.39)

である。この回転行列成分はそれぞれ次のようになる。
x成分:

(R−1"vE)x = [sin2(ΩEt) cos(IE) + cos2(ΩEt)] cos(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] sin(ωEt) (10.40)

50

({R(ωE)}−1"vE)x = [cos(ΩEt) sin(ΩEt) cos(IE)− cos(ΩEt) sin(ΩEt)] sin(ωEt)

+ [sin2(ΩEt) cos(IE) + cos2(ΩEt)] cos(ωEt)

= [sin2(ΩEt) cos(IE) + cos2(ΩEt)] cos(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] sin(ωEt) (10.35)

({R(ωE)}−1"vE)y = [cos(ΩEt) sin(ΩEt) cos(IE)− cos(ΩEt) sin(ΩEt)] cos(ωEt)

− [sin2(ΩEt) cos(IE) + cos2(ΩEt)] sin(ωEt)

= −[sin2(ΩEt) cos(IE) + cos2(ΩEt)] sin(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] cos(ωEt) (10.36)

({R(ωE)}−1"vE)z = sin(ΩEt) sin(IE) (10.37)

以上をまとめると、

∆CS = 2ḟ
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y成分:

(R−1!vE)y = −[sin2(ΩEt) cos(IE) + cos2(ΩEt)] sin(ωEt)

− [sin(ΩEt) cos(ΩEt)(1− cos(IE))] cos(ωEt) (10.41)

z成分:

(R−1!vE)z = sin(ΩEt) sin(IE) (10.42)

10.5 中緯度の式
これまで初期位置は、赤道に置いて考えてきた。次は、地表に張り付
いた座標系における初期位置の緯度を変えて、中緯度の式をつくる。ま
ずは、接平面（観測者のいる座標系）上の、ここでは地表に張り付いた
座標系で初期位置を決める。この座標系を座標回転させて緯度の効果を
加える。その後に、日変化と年変化の効果を加える。

[3(!vE · !nE)!nE − !vE] · !NE = 3(!vE · !nE)(!nE · !NE)− (!vE · !NE)

= !vE ·
[
3(!nE · !NE)!nE − !NE

]

= !vE ·R(ωE)R(φ)
[
3(!nE0 · !NE0)!nE0 − !NE0

]

= {!vE}TR(ωE)R(φ)
[
3(!nE0 · !NE0)!nE0 − !NE0

]

=
{
[R(ωE)]

T !vE
}T

R(φ)
[
3(!nE0 · !NE0)!nE0 − !NE0

]

=
{
[R(φ)]T

[
R(ωE)

T!vE
]}T [

3(!nE0 · !NE0)!nE0 − !NE0

]

=
{
[R(φ)]−1 [R(ωE)]

−1 !vE
}T

[
3(!nE0 · !NE0)!nE0 − !NE0

]

(10.43)

ここで初期位置とは、
[
3(!nE0 · !NE0)!nE0 − !NE0

]
。これに緯度の効果を

回転行列R(φ)をかけて、次に日変化の効果を回転行列R(ωE)をかける。
最後に年変化の効果を !vEに加えていく。年変化は 10.4を参照する。
したがって、自転と公転、さらに緯度の効果を入れた「日変化・年変
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∆CS = 2ḟ
mGMES

!c2r3E

(
{R(ωE)}−1"vE

)T
[3("nE0 · "NI0)"nE0 − "NI0] (10.28)

ただし、

"vE = {R(ΩE)}−1R(IE)R(ΩE)




vE
0

0



 (10.29)

である。
ここで使った回転行列を具体的にかくと次のようになる。

R(ωE) =




cos(ωEt) − sin(ωEt) 0

sin(ωEt) cos(ωEt) 0

0 0 1



 (10.30)

{R(ωE)}−1 =




cos(ωEt) sin(ωEt) 0

− sin(ωEt) cos(ωEt) 0

0 0 1



 (10.31)

R(ΩE) =




cos(ΩEt) − sin(ΩEt) 0

sin(ΩEt) cos(ΩEt) 0

0 0 1



 (10.32)

{R(ΩE)}−1 =




cos(ΩEt) sin(ΩEt) 0

− sin(ΩEt) cos(ΩEt) 0

0 0 1



 (10.33)

R(IE) =




1 0 0

0 cos(IE) − sin(IE)

0 sin(I)E) cos(IE)



 (10.34)

これらの回転行列を {R(ωE)}−1"vEに入れて具体的に計算すると次のよ
うになる。
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mGMES

!c2r3E

(
{R(ωE)}−1"vE

)T
[3("nE0 · "NI0)"nE0 − "NI0] (10.28)

ただし、

"vE = {R(ΩE)}−1R(IE)R(ΩE)




vE
0

0



 (10.29)

である。
ここで使った回転行列を具体的にかくと次のようになる。

R(ωE) =




cos(ωEt) − sin(ωEt) 0

sin(ωEt) cos(ωEt) 0

0 0 1



 (10.30)

{R(ωE)}−1 =




cos(ωEt) sin(ωEt) 0

− sin(ωEt) cos(ωEt) 0

0 0 1



 (10.31)

R(ΩE) =




cos(ΩEt) − sin(ΩEt) 0

sin(ΩEt) cos(ΩEt) 0

0 0 1



 (10.32)

{R(ΩE)}−1 =




cos(ΩEt) sin(ΩEt) 0

− sin(ΩEt) cos(ΩEt) 0

0 0 1



 (10.33)

R(IE) =




1 0 0

0 cos(IE) − sin(IE)

0 sin(I)E) cos(IE)



 (10.34)

これらの回転行列を {R(ωE)}−1"vEに入れて具体的に計算すると次のよ
うになる。

49

∆CS = 2ḟ
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⾃自転 公転 地軸の傾き
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もくじ

•はじめに、背景

•量⼦子⼲干渉実験 (中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果)

•Chern-Simons(CS)重⼒力力、CS重⼒力力による位相差

•時間変化 (⽇日変化、年変化)

• 　への制限

•まとめ、課題

ḟ



への制限ḟ

位相差

|∆CS| ∼ 4

(
mc2

!

)(
ḟ

c

GME

c2rE

vE
c

)(
S

r2E

)
(9.8)

|∆CS| ∼ 10−3[ s−1 ]×
(

mc2

1GeV

)(
ḟ

c

)(
S

0.4m2

)
(9.9)

オーダー評価を次元解析で

ḟ(!∇× !V ) (9.10)
(
ḟ(!∇× !V )

)2
= ḟ 2(!∇× !V )2 (9.11)

(!∇× !gCS)
2 ∼ 1

r2
g2CS (9.12)

!gnext = g2CS (9.13)

(9.14)

(!∇× !gCS)
2 ∼ 1

r2
g2CS (9.15)

∼ rE × (!∇× !gCS)
2 = !∇× !gnext (9.16)
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•  　と位相差のオーダー

 　測定精度 　 　 　 　でCS重⼒力力は 　 　 　 　 　 　 　の制限を与える

• GPB(Gravity Probe B), LAGEOSによる古典⼒力力学的実験は 　 　 　 　 　 　 　の制限
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!gnext = g2
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r2
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∼ rE × (!∇× !gCS)2 = !∇× !gnext (9.16)

∼ ḟ c−1 × 10−14 (9.17)

∼ 1024[s−1] (9.18)

O(10−3) (9.19)

∼ ḟ c−1 < 100s (9.20)

∼ ḟ c−1 < 10−3s (9.21)
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• ⼲干渉計の腕の⻑⾧長さを 0.6m → 5m で⾯面積２桁向上

• 位相差測定精度を 　 　 　 　から 　 　 　 　へ１桁向上

• 将来的に 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　の制限！

• GPB(Gravity Probe B), LAGEOSによる古典⼒力力学的実験は 　 　 　 　 　 　 　の制限
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ḟ

c

GME

c2rE

vE

c

)(
S

r2
E

)
(9.8)

|∆CS| ∼ 10−3[ s−1 ] ×
(

mc2

1GeV

) (
ḟ
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まとめ
• まとめ

• 中性⼦子⼲干渉計を⽤用いた量⼦子⼲干渉効果を利⽤用して、CS重⼒力力へ制限を与えられる

• ⼲干渉効果は時間変化する（⽇日変化、年変化）

• 将来的に 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　の制限

• 課題

•  　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　 　の近似が使えない場合

位相差

|∆CS| ∼ 4

(
mc2

!

) (
ḟ
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位相差∆の式 (5.3)の !∇× !h0に、この δΩiを用いると、

∆ =
mc

!

∫

S

(!∇× !h0) · d!S (7.5)

= 2
mc

!

∫

S

ḟ
M

r3
[3(!v · !n)!n − !v] · !NdS (7.6)

= 2ḟ
mMcS

!r3
[3(!v · !n)!n − !v] · !N (7.7)

となる。ここで、

地球半径$
√

s (干渉計のサイズ) (7.8)

なので r =一定と考えられるので、[3(!v · !n)!n − !v] · !N は積分の外に出せ
る。以降、位相差∆は係数部分を除いた [3(!v · !n)!n− !v] · !N について議論
する。

7.2 Daily variation
!N(t)と!n(t)にcoordinate rotation(座標回転)を与えて時間変化を考える

!N(t) = R(t) !N0

!n(t) = R(t)!n0

R(t) =




cos(ωEt) − sin(ωEt) 0

sin(ωEt) cos(ωEt) 0

0 0 1





ただし ωEは地球の自転周期。

ωE =
2π

１日

[3(!v · !n)!n − !v] · !N = 3(!v · !n)(!n · !N) − !v · !N

= !v · [3(!no · !N0)!n − !N ]

= !vT[3(!no · !N0)R!n − R !N ]

= !vTR[3(!no · !N0)!n − !N ]
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地球半径 (⼲干渉計の⼤大きさS)
eLISA, DECIGO etc.


